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Q.No 2
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Q1 How many processes wil
the following code? Draw
processes with brief ex pIa,,,.' i
by this code.

#inciude{;ﬂé{tﬁfé}@
#includegunistd.h>

if (fo_vk_{: ":‘{ ; “o*_{}f (N
' Sg,{ﬂjr L) && fork())
fork();

} T
ngsm_ﬂ"iUli\n”l
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mth an example for cach. Llst key benefits of using threads in an
i opudtmg system.

f;fgitcd after the successful exec'iltijgﬁ'ﬁf 2 1+1+1
“showing the hierarchy of parent-child
; Also write down the output produced

32 N fferentiate betwean User: ser T F*th i Threads and Kermnel-Level Threads | 2 1
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Y5 1 Consider the set of 5 mowssus whose arrival time and busst time arc 3 3
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* Process 1d Arrival ine [ Dyrst tinie Priority
P1 L 4 v 2
P T 3 3
P3 2 o= 4 -
7 2 5 5
Ps 4 2 5

If the CPU schedulmg policy is priority preemptlve, calculate the
average waiting time and average turn around tlmcL (I-Ilgher number
represents higher priority).

Q4

following is not possible as CPU burst time (m" I mts) of these

Consider four processes scheduled on a CPU,&as per round robin

algorithm with a time quantum of 4. The processeg; arrive in the order |

P QR and 8 all at a time 0. There is exact yone contexi swiich
from 3 10 Q, exactly one context switch from R’ 10'Q and exac ti"':E
context switches from Q to R. There is no contexj: switch from S K
to P. bmtclnng to a ready process after the tmmatmn ot dnother
process is also considered a context switch.  Which one of the

i,

processes?
AP=4,Q=10,R=6,8=2
EP=2,Q=0,R=55~1
C.P = 41 Q =4 l? = t) =
D'?T'E:Q""“?;_ =75 =3

Q3

[ a. Hew docs the operating s\:stcrr‘ u'3c _hn, PLB to tLack the state of
cach process? i <
b. In a2 multi-core procesum $ ystﬁnﬂ how does the Qgcratmg system
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handle context sw1tc111ng across multiple cores
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